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THREE YEAR B.Sc. (CBCS) DEGREE (Regular/Supplementary) EXAMINATION,
OCTOBER/NOVEMBER 2018

" FIFTH SEMESTER,
Part II — Electronics

| Paper V — MICROPROCESSORS (INTEL8085)
Time : 3 Hours ‘ _ v Max. Marks : 75
PART - A

DPNH -

Answer any FIVE questions.

Each question carries.5 marks. |
D D (HHO é;érwé:ﬁne» p‘dnan;'
@é. %% 5 :s&éesabw.
| (Marks 15 x 5.m‘arks = 25 marks)
i ~ Draw pin diagram of 8085 up. 3 ‘
8085 p BwY), 55 2 Heasodo AaHw.
2. Explain about multiplexing the bus AD7 — ADeo.
AD7 — ADo bus & :ﬁog}_ggooﬁ‘ Do 'awzéé,;oéo DHBoIHR.
3.  Write about any tHrée addressing modes of 8085 up.
8085 up Boo¥), T nn;c:a BT &y K°8) pvcﬁm&o.
4. Define instruction cycle and machine cycle.
Som9% P8S D080%» oA P8Setn dYgd0BOE.
5.  Write an A/P for block transfer of daté. |
0N @Y, 25 2888 A/P D Erabusw.
6.  Define stack.

‘ 8D dEgHoVOE.
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10.

11.

12,

13.

14.

Describe about interfacing.

£9DDOTRNR K809 IHB0H0E.

* Write the differences between /0O mapped I/0 and memory mapped 1/0.

I/0 5758 1/0 308050 353008 558 /0 S0gs5 Ko By @rafin.

Write briefly about stepper motor interfacing to 8085 up.

" Stepper motor > 8085 4 p ¥ @RISOFEHBEN B0 K0 LSO FRAIB0.

Explain input-output port interfacing.

2%/ port BRISOETRBNOL0 K76 OB,

 PART-B
DgrKS0 - D

Answer ONE question from each Unit.

Each question carries 10 marks.

98 050eReS K008 & [58)50 SATEEHH Erak0R00.
98 5%)% 10 Ho°to)e0.
(Marks : 5 x v.10 marks = 50 marks)

| | UNIT - I
Draw the block diagram of Intel 8085 xp and explain each block.

Intel 8085 4 p @B}, I 36350050 A0S0 S0BAL 2,878, R0 H5BOHH.

Or
Explain about interrupts in 8085 up.
8085 1p 6% aSeEg) K6 2580w,
UNIT - IT

Define opcode fetch. With the help of timing diagram. Explain opcode fetch.
Opcode fetch K0 EgDOB0E. 570 DB IFAHHE® opcode fetch D dHBoBOE.

Or
Explain the functional operation of RAM.

RAM Goo¥), 59 95 G0 95803508,
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15.

16.

18.

19.

20.

UNIT - III
Write an A/P to arrange given numbers in descending order.
RS FoPORL BIE e EH0S” e A/P R Eraidn.
Or
Write an A/P to convert BCD to Binary.
BCD #00& B58r 55°8)& 3050605 A/P D [easombw.
| UNIT - IV

With a neat circuit diagram explain the memory interfacing of 4 k x 8 ROM, RAM with
8085 up. '

DEO DB 9580508 4 k x 8 ROM, RAM 2530800 8085 4p & @X0005°0500 Dasnems
25803 o |
Or
Describe in detail about memory mapped I/0.
20308 B0°5HE /0 809 39580 SGodok.
' UNIT -V

Draw the functional block diagram of 8255 and explain its different modes.
8255 G, DV DFTH B0 HeaHay RN 2Bk TR B, 99 B D5B0HHL.

 or
Write in detail about simple traffic light controller.‘

16728 Bew daoes K7°8) DB EPOKVB.

(56317ELE15)



